FAMILY MATH NIGHT
Rollingwood Elementary

School
Thursday, January 14, 2009




Mathematics is not
a spectator sport.
In order to learn,

you’'ve got to be an

active member
of the team.



Family
Involvement
IS Important

You can make a
difference!

Studies show when there I1s a
high level of family involvement
students do better in school.

Get Involved!



Be Supportive ﬁ

e Maybe you weren’t good at math,
but your kid doesn’t have to
know that. Have a good attitude
and she/he will, too.

e “My daughter is growing up with
a ‘can do’ attitude toward math.
Her skills are more advanced than
mine, and | let her know I'm
proud of her.”



i

* [t may be only a few minutes a
day, but I’ll sit down with my
grandson and ask him what math
he’s working on. Sometimes by
explaining it to me, it becomes
clearer to him.

Listen

 From talking with my daughter,
I’'ve begun to see math in an
entirely new way. She likes
taking the lead, and I’'m sure that
teaching me helps reinforce what
she’s learned.



Parents are the
Most Important
Teachers

i

Read To and With Your Child
Talk about Mathematics

Provide activities that make math
fun

Model how to solve problems
Make the most of captured time
Be positive about math!



Connect Math to
Daily Life

] A 0

* Try estimation activities
— How tall is that building?
— How many ducks are in the pond?

 While traveling in your car create
new math problems, like
measuring time to travel to visit
Grandma.

e Talk about math while cooking and
shopping, with measurements,
guantities, weights, and how much
something costs.



Use Manipulatives ﬁ

 Beans, blocks, candy almost
anything can be used for solving
problems

e Others may include:

— Spinners ﬁ
— Dice m
— Counters

— Base Ten Blocks
— Tangrams




"You and Your Home"
Game Show

— Family Members can participate
individually or you can form teams.

— Sample Questions:
e How many windows are in your home?
e How long is your bed?
* What is the area of your bedroom?
 How many cookies are in the cookie
jar?
— Prizes
* No chores for the day
e A special movie night for the family
e An afternoon at the park



Addition or
Multiplication War

A deck of cards can be used for an
addition or multiplication war game.

The dealer passes out all the cards.
Players don't look at their cards.

Each player turns up two cards.

In Addition War, the highest sum
wins the hand.

In Multiplication War, the highest
product wins the hand.

Play continues until one player has
no more cards.



Make Wrapping
Paper

 Younger Children Learn About
Patterns

e Large Piece of White Paper, Ruler,
Pencil, Sponges Cut in 2 Shapes, and
2 Colors of Washable Paint in
separate containers.

 Choose a shape--square or triangle.

e Using the ruler make a grid of your
shape all across the Large Piece of
White Paper.

* Using the sponges and paints, make
a pattern on your paper.



MATH NIGHT ACTIVITIES



EGG CARTON ﬂ

TREASURE #1

e Take One Egg Carton with
Numbers Written In Each Slot

e Take a Cup Of Beans
e Put Beans in Each Slot To Match
The Number On The Slot

— For example, in the slot labeled 2,
put in 2 beans
* When you are finished, all the

beans in the cup should be in the
Egg Carton.

e Make sure you count carefully so
you do not miss any!



EGG CARTON ﬂ

TREASURE #2

e Take One Egg Carton with Numbers
Written In Each Slot

e Take a Cup Of Beans

e Put Beans in Each Slot To Match The
Number On The Slot and The Color
Listed

1 Black |7 Red
2 Red 8 Black
3 Black |9 Red
4 Red 10 Black
5 Black |11 Red
6 Red 12 Black
* When you are finished, all the beans

in the cup should be in the Egg
Carton.

e Make sure you count carefully so
you do not miss any!



e Which Frog is First? Second?
Third? Fourth? Fifth? Sixth?

 Draw a line matching the frog to
the correct number/position.
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How Many
Monkeys?

How many monkeys are standing on
their heads?
I_

ow many monkeys are dancing?

e How many monkeys are at the
party?
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CEREAL
COUNTDOWN

i

Take one string of yarn
Take a bowl of cereal.

Thread the cereal on the string of
yarn.

Carefully count until you have
100 cereal circles on your string.

If you can, create a pattern with
the different colored cereal
circles.



U% LEGO CHALLENGE ﬂ

e Build A Tall Tower and Use Three
Colors of Legos

e Write Down the Colors You
Choose

 When you are done building your
tower, how many Legos did you
use of each color?

COLOR NUMBER

e How Tall Is Your Tower? Count
how many Legos you use in Total!




ESTIMATION ﬂ

e Look at the containers and make an
estimate

e How many?
— Jelly Beans
— Grapes

e How much money is in the
container?

NAME

CLASS

e The closest estimates will win a
prize!



Graph Racing ﬁ

Use one Racing Sheet and each
racer picks a different colored
pen or pencil to use for racing.

The youngest player goes first.
Racer 1 rolls the dice, adds the
numbers together and fills in the
number of spaces to match.

Racer 2 does the same, and this
repeats over and over until the
Finish Line is reached.

The first racer to reach the Finish
Line Wins!




Racing Course ﬁ

START FINISH




PIPEPLAYER ﬂ

e Pipelayeris a game played with two
grids of dots that are slightly offset from
one another. The rules are as follows:

 The players take turns moving by
connecting two dots.

e A player can only connect dots that are
adjacent horizontally or vertically and
also only dots of his own color. One
player plays using the black dots and the
other player plays using the white dots.

e No move may draw across another
move.

e To win a player must make a continuous
connection from one side of the board
to the other in the long direction for his
color of dots. For the player using the
black dots the dots must be connected
top-to-bottom. For the white dots, the
dots must be connect left-to-right.




VALUE OF WORDS ﬁ

What is in a name?

Each person in the family should
write down her/his name on a
sheet of paper.

Using the attached chart, add up
the numbers that correspond to
each letter.

If you can add up the numbers
without using pencil and paper.

Whose name has the highest
count?



VALUE OF WORDS ﬂ

* Now, pick other words from your
favorite book, and using the same
chart, add up the numbers.

 Can you find a word that add up
exactly to
507
1007
1507
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14
15
16
17
18
19
20
21

22
23

10
11
12
13

24
2
2

5
6



HOW MANY
PAPER CLIPS?

i

How many paper clips will it take to
show how tall you are?
Take a guess.

Take out paper clips and start
attaching them together until you
have enough paper clips to measure
how tall you are.

Was your guess right? How many
paper clips high are you?

Compare your height with someone
else. How many more or less
paperclips high are you?



PIPEPLAYER ﬂ
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CAPTURE

Capture is a two player game played on a
grid of dots. Each player should use a
different colored pencil/pen.

The players take turns connecting dots that
are horizontally or vertically adjacent. If a
player can complete a square by connecting
two dots then they capture that square.

You must draw another line after making a
capture. A player may, thus, make a large
number of captures in a single turn. After the
last capture he must still connect two dots.

Most of the strategy in this game amounts to
forcing the other player to complete the
third side of a square. Beyond that, one
capture may allow others and so you should
work to arrange that you get the big chain of
captures.

The person who captures the most squares
wins.
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5‘ What’s To Eat? ﬁ

e Using the menu provided, you will
need to decide what you eat for
three meals — without spending
more than S40 in total.

Meall PRICE Meal2 PRICE Meal3 PRICE

Item Item Item
S S S
S S S
S S S
TOTAL S TOTAL S TOTAL S
Meal 1 Meal 2 Meal 3
TOTAL FOR ALL MEALS

S




SCRAMBLES - All served W/ griddled mashed or
crispy potatoes, fruit and biscuit
*Hardwood smoked bacon, avocado, onion
& Swiss
*Ham, spinach & cheddar
*Sundried tomato, basil & goat cheese
*Ground turkey, mushroom & broccoli

FARM BISCUIT BENEDICTS - Homemade Biscuit split
and crowned with scrambled eggs, Canadian Bacon,
Mashed Potatoes and Delicious Hollandaise

FLAPJACKS SERVED W/ FRESH BUTTER & SYRUP -
Buttermilk

SPECIAL FLAPJACKS
Blueberry Pecan

Brown Sugar Banana
Mango Coconut

add Whipped Cream .95

Griddled French Toast dipped in a banana cinnamon
cream w/ pecan maple syrup

BREAKFAST MENU

9.95

11.95

6.95

7.95

10.95



SANDWICH MENU ﬁ

THE KOKOMO Griddled HH famous meatloaf with 9.75
roasted tomato and smoked mozzarella on old
fashioned milk bread

BBBLT (yes Bacon Rules) all on old fashioned milk 8.95
bread w/ Mayo

FRESH ROASTED CHICKEN SALAD cucumber, bacon, 9.50
tomato & spinach, on milk bread

CRISPY CORNMEAL SALMON SANDWICH w/ chili 9.95
mayo, red leaf & tomato on a wheat bun

FAMOUS ONE POUND STUFFED BURGERS 9.95
Two patties with stuffing in between on a fresh bun
with lettuce, tomato, red onion and pickle.



INFINITE
POSSIBILITIES

Think about the different structures that
are around you everyday. How do you
think they were designed? What kinds of
shapes do you find in these objects and
structures?

Pick something that you want to try to
build out of toothpicks and marshmallows!

What can you build using toothpicks and
marshmallows?

— Pyramid

— Prism

— Bridge

— Boat

— Building

— Car

Take 20 Toothpicks

and 15 Marshmallows
and Build Your Dream!




Chinese Number
Rods

 About 2400 years ago Chinese
mathematicians came up with a
novel counting device. People who
did calculations would carry a case
of plain rods about the size of small
pretzel sticks, some black and some
red. The rods were laid out on a
giant checkerboard to represent
numbers. Each column of the
checkerboard represented a place
value, ones, tens, hundreds, etc.

 Asquare on the checkerboard
contained a digit of a number.




Chinese Number
Rods

e There were two ways to represent
each digit:

— The rod arrangements on the top row
were used for the ones place, the
hundreds place, the ten thousands place,
etc.

— The rod arrangements on the bottom row
were used for the tens place, the
thousands place, etc.

 Red rods represented positive

numbers and black rods represented

negative numbers.
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Here are a few

examples:
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2, 3 0 8
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4 2 7, 1 3 9
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Can You Write
These Numbers?

2561

8003

79214

598,735

15236

-9401

94060

987,654




INCA QUIPU

e As far as the Inca were concerned, theirs
was the greatest of all the world's
civilizations. Their empire was the largest
of the pre-industrial world; their golden
capital, Cuzco, the richest city in the
Americas.

 Beginning in the 1300s, the Inca moved
down from their Andean homeland to
conquer the neighboring lands and peoples
along the Pacific coast of South America. By
the time the Spanish arrived in the early
1500s, the Inca Empire was at the height of
its power. It stretched some 2,500 miles—
the approximate distance from
Washington, DC, to Los Angeles,
California—and incorporated more than 12
million people speaking 20 different
languages.



e To pass on their messages, Inca couriers

used many tools including quipus. Quipu
means knot in Quechua, the native
language of the Andes. The quipu was a
useful record-keeping tool for the Inca
government.

Quipus were special knotted strings that
kept track of numbers. Different-
colored quipus stood for different
things. Yellow, for example, stood for
gold; red stood for warriors. Different
knotted strings were tied together to
convey a message.



e Toreada
number on a
quipu, you count
the knots in each 1000's place
place to figure
out how many
ones, tens,
hundreds, and so
on are recorded.

100's place

10's place

e |f there are no
knots in one of I's place
the places, that
represents 0 in
that place.

172 3,016 2,603 1.341



Make their own
quipu

e Tell A Story About You
— Take three pieces of yarn.

— Using the first piece of yarn, show
the year when you were born.

— On the second piece of yarn, show
the year you will graduate from
High School

— On the third piece of yarn, show the
year you will graduate from College.

— Tie all three yarns together, and you
will have a story about your life that
you can share.



The Sum What
Dice Game

Each Player Has A Playing Strip

Players Take Turns Rolling Two Dice

On each turn the player may cover either the
sum rolled on the dice or any two numbers that
are still uncovered and that add to the sum
rolled.

For Example, if a sum of 9 is rolled first, the
player may cover: 9,or1land8,or2and7, or3
and 6 or 4 and 5.

Later in the game if the number 9 is rolled again
and the 5 is already covered, then the player
cannot use the 4 and 5 combination and must
play one of the other available options.

When a player cannot play, he or she is out and
has a score of the sum of the uncovered
numbers.

Play continues until everyone is out.

The last person to go out will not necessarily win;
the person with the lowest score wins.



A
Playing Strip

3

A

5

6

/

3

9

A

3
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PAYING THE PRICE ﬁ

* Help your child find how many
different ways you could pay for
each of the items using pennies,
nickels, dimes and/or quarters.

e Using the Coin Board, layout the
coins in the correct column, then
make a record how many ways
there were to pay for the item.

 For example, for an eraser that
costs S.05, there could be two
ways to pay:
— 5 Pennies
— 1 Nickel



S

b

PAYING THE PRICE ﬂ

Item POSTAGE ICE PENCIL | ERASER | MILK APPLE GOLD
CREAM FISH

By o
mik } f
o —

S.44 | S$.62 |S.18|5.09|5.50|S$.77 |$1.00

Price

Coin
Combi-
nations




TANGRAMS

The origins of the Tangram puzzle are not
known with any certainty, but the idea is
thought to have originated in China about 250
years ago.

The true origin of Tangrams is lost in the
shrouds of time, though there are many
stories to explain where the puzzle come
from.

— Some say they were created when a man named

Tan broke a plate and used the pieces for a
puzzle.

— Another story says they were a royal pasttime in
the emperor's court during the Tang dynasty.

— Others maintain that the game was spread by
the Tanka river people in China when they
traded with American sailors.

Tangrams have captured the imagination of
people worldwide, and even were a favorite
of Napoleon.

Tangrams consist of seven pieces which can
be arranged to make countless pictures.




&% The Tangram Rules ﬁ

e You must use all seven tans.
 They must lay flat.

* They must touch and none may
overlap.

e BUT!

* Feel free to break away from the
"rules”!

 ENJOY!






TANGRAMS ﬁ
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from CALIFORNIA

Native American Game Sticks




* The object of the game is for one player to obtain all 10

counters.

Two players need 1 set of 4 game sticks and 10 counters.
Flayers alternate turns tossing the sticks. Toss the sticks to
see which player will go first. The player with the most
design sides up on her toss goes first.

Counters are obtained by the toss of the sticks as follows:

a. If all 4 sticks land on the design side, then take

2 counters.
b. If all 4 sticks land on the plain side, then take
2 counters.

c. If the sticks land with 2 plain and 2 design sides, then

take 1 counter.

d. If the sticks land in anv other combination, take

no counters.

Play continues until there are no counters left in the initial
group of counters. Now when a toss is made that merits
counters, the opposing player has to give the player
counters from her pile.

For example, Player 1 has 6 counters and Player 2 has 4
counters. It is player 2's turn to toss. Her toss is 4 sticks on
the plain side. Now Flayer 1 must give Flayer 2 two
counters.

Play continues until one player wins all the counters,
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[Game Sticks Recording Shee

Toss your sticks 20 times. Cross out a number each time you toss so that you will know
when you have made 20 tosses.

1 2 d 4
11 12 13 14

5 i) 7 L 9 10
15 16 17 18 19 20

Record each toas on the chart below in the box that shows how your sticks [ell.

i

1l .




YAHTZEE

_ YAHTZEE SCORESHEET
Player Name | |
 Ones

Twos
ThreES ————

Fours

Fives

Sixes
Subtotal
Bonus

' Upper Total

-----

' 3 of a Kind

4 of a Kind

Ful_11 House
Small Straight
Large Straight
Yahtzee

' Chance

Bonus Yahtzee

| Lower ]:I{Jt:ﬂ]

Upper Total
Lower Total
Grand Total




There are cows in each pasture. The pastures are
connected by bridges. The number on each
bridge tells the total number of cows in the two
pastures it connects. Using the beans, find out
how many cows are in each pasture.

—————
b | Purpbe H Drange Crange

Hinl: Purple = 6

24
= 2

ellow 4 FPurple 1 o W ellow

Hind: Yellow = 4 Hint: Cranpe = 5



There are cows in each pasture. The pastures are
connected by bridges. The number on each
bridge tells the total number of cows in the two
pastures it connects. Using the beans, find out
how many cows are in each pasture.

p ettt o

W allow Purple 1 o Purpie ﬂ Wl low




There are cows in each pasture. The pastures are
connected by bridges. The number on each
bridge tells the total number of cows in the two
pastures it connects. Using the beans, find out
how many cows are in each pasture.

Hint: Total nuembsar of cows = 14

Grean - Yallow

Cirange

Hint: Total numbser of cows = 15 Hini: Total number of cowe = 16



There are cows in each pasture. The pastures are
connected by bridges. The number on each
bridge tells the total number of cows in the two
pastures it connects. Using the beans, find out
how many cows are in each pasture.

Graan allow

Hint: Tefal aurmber af cowe = 18 Hint: Tatal number of cows =19
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In each cross puzzie below, placa the numbers
1.2, 3, 4, 5in the squares, 50 that the sum of
three numbers in a vertical or horizontal line
equals the sum given above that puzzle.

sum = 8

i

&L sum = 10




Eum=8B Sum=9 5Sum-=10
= -

I?F'T] -'2,|:5||4| [2

5] B

About the Problem:

This |5 an aasy threa-part probiesn designed io give
shuckents confidence and praciice with the guess-and-
chack giralegy’. Yol may feed I carty that a rumber
can't be used bwica. This problem will lead nicaly inio
the Sum of Thirear peoblem, i vou discuss the pro-
ceds of [Eling all the combinalions of a given aum

Gatling Started:

L e aludants use tal and smar here In lster moms:
GHPpkE arablams, ey will seo s limitaions, and will
beqgin Io appraciaie the advantages of wing onganized
lsks of comBbinations.

Some ghudants maght wank ¥ wille e Aumbas 1
thrpugh 5 on separaie slips of paper, and mows tham
around Wihin tha puzzie wnid they find a amedl sal-
Han

Solution;

hiosd studenks wil sobve thesa puzzles by trial and
RITCEF.

Answers:

1]
glal
4

CROSS SUM
ANSWERS

Going Beyond:

Thiz B 8 good cpporunity 0 discuss 8 way for the
shuderts o srganize thair tlakand-arnr appaoach, Far
Example, considaer tha first part of e problem. We ae
lcaking for a sum of B, What possible Irples have &
SUm of BY

1=2 =<5

1T=8-=4
Trare e only Deo po=mibilges. In the puzzia, one
rumiber must appear in Both 8 ciliamn and 8 row. So 1
must e e number 10 place in e canter af the pursHe
I# 2 and & ara placed in thea colume, Hhen 3 and 4 muss
b placed in tha row, R vics WaRRa
In a simiar faghion, ™ gludanis can |ist the rumbar
Iripkas with siima of 8 &and 10 o help solve the mmain-
ing tan pans of e problem.
Famssmber thal a rotation or a refisction of any purde
solution is not considaned a different sollion,
Hanz s a good el of simisr problems hal aro slighty
melng it

Placa e Brel six counling numbers in The cincles

Dalow 50 thad the sum an each side of the Wanghs is

8, Can yold cko This a0 [hal S sumis 107 117 127

Haree sladants make s of combinalicns 1o belp
thegm 3okad B lour purries.

Ansaers:
FET = 3 im = 10
1 /_q:?‘l
5 ] 8] E.;
,r-“')? .r—“"}- et
(Zr—(—2) Q=5
gum = 11 sum = 13



Place the numbers 1,2, 3,4, 5,6, 7, 8in the
alght circles so that the sum of the numbers In
any line eguals 13,




Answer: Two possible salutions are

i o%

About the Problem;

Thiz kind of problem gives Shedents 8 Chance o heed
their lagic and orgarizalion abiily as wel as giking
by =ome acddfion peactice. The peoblern cen ba
sohead by trhal ard emor but some gocd reasaning will
shorien tha sclution process. Tha Wamm-up prablem
which encourages siudenis (o lisl all combirations of a
piven sum helps prepgara therm for this problem.

Getting Staried:

Ctemre the dfi=ent wase siudenis approach the
profbilam. Aftar the probiermn has bean solved by sevéral
shudemis, a discussion by e cless on diferent ways 1a
approach tha problam may be partioulady halph 1o
Eakipms the next iime they encounter this type al
prodilem.

Hera & aorme hinks
Melaie o list of all of the $irsa-number combEng-
Hors of 1 through B thal 1o6al 13,

Starl wilhh &y numbar 0 ona comer. Test i
coMmbINgicn: on hwo sides of the squeans. Shit
rumbans and iry dManani poesiblibes,

ANSWERS

Solution:

A IiEi:hl:ﬂ combinationg providas B handy reienence as
b gueag-and-check procass Degins
s = 13
i -EI -4
[
2-8-3
e Ted
2-6-3
34
Typical reasaning migt ba as foliows:
“I'will fry 1 in @ comer because # B in bwa combina-
tere, 1-B-4 and 1-7-5. I'will iy T and B in comars that
cormes with 1, Eighl w565 2 and 3 in (is ather
cominaicn. Thal's akay, | havant used tham el
Sewan L8es 2 and 4 i ite Giher comibination. That
wor L work aince | used 4 with 1-3-4, Tharafomn 7
can't b in @ camer. FEIry & and 5 in the cormess,
Thia's chary because the ciher Sombinaion Sl uaes
5 s 528, | haver 't used 6 el Tveo maast Ba used
with 8 52 it goes In a comer. All done. Check the
gums. Ara thay &l 137 Yas. | hava a solubon

T 5

D ©
Going Beyond:

1. Moar that you krdrar how 10 S0kae This kind of prob-
lem, can yau find & solufion for & swm af 147

Ansvear;




Eight people meet at & party. They all
exchange handshakes. How many
handshakes are exchanged?




Answer: 28 handshakes

About the Prablem:

Mo prerequisites ane requined here excep! counling
The probiem is & good One Dessuss | oan be ap-
proached o variely of ways. It also provides an
Dpparmanity 1 De imvolead with combinatiors in which
order i not impodant. That is, & shaking hands with B
is (he 2ame hardshake as B shaking hands with & The
obrious fact thal no persen shakes hands with himaelf
may rneed o be poiried oul 1o some sludants.

Getting Started:

This problem can be actad out by claes meenbers: in
ot af the dass:. In ardar to recond data, studerts may
need i use names Or symbaks. Soo how they think this
aut an Ehair own, then labes dacims e advaniages al
using A, 8, G, 0, ard &0 0n
Some halplul hinds ane

Cﬂl'lﬁ'fnl.l draw @ diagram thal raprasents e prab-

L

Can wou makie & chart or et of all e handshakas?

Soluthon:

e neprersant the eipht peapia by Be lemare A through
. Two styles of Isting are shown Delow. The fist is a
tree dagram. Tha sacond & an organized lsling of the
pairs af peopia,

? ¢
H fa]
"D B E
oA F ———F
iy 5
%‘G HHH
A
L £
_'_,_4—"
e E i ~ _F
c e F =~
-G ~ H
i
F G 8 M
r-___'_:
Eﬂ%ﬁ T

F+ B+ 5 4E4+ 3+ 7+ 1= hardshakes

ALL SHOOK UP
ANSWERS

Ch':;url::d Ilslhg
AGAC ADAE AF_AG AH
BC.60,8E, 8F, 55,84
C8,CE GF, GE,0H
DE.OF, 0, D
; EF.EGEM
FGLEH
-

Some gludanis may prefar @ geomatric model. A e
segment cormecting points A and B oould represant a
randshake. Tha eight people coukd be modeled as
ghirwn in the figure belowy, Handshakes ame counled as
the problam sohar connects A 08, A o C, Ao, and
so0n undl each lther i cormecied Lo every athar latter,

Some shudants wil gee the lisling and dagramming as
unnecessary. Thay may sy, “Each of sighl pecpks
ghaka hand: with sovan othar peapie, 5o thana ana 7
time= 8 or 56 handshakes.” Soms shaants el s
this appromch may averiook the fact thal 7 limes &
courits &'s shafos with 8 and B's shake #iih 4 85 bav
dilferert elemants. Chher studands will rmalize g and
divicke 58 by 2 %9 ged the cormect answar, 28

Stdants should be encouraged 16 by whabewar
method fhay wish, Thay soon look for the easies and
{asiest sppraach,

Going Beyond:

1. Whad wane all the diffiensnl melhods usad by class
mambars ¢ asleg this prablem?

2, After seaing [ems methods, which do ol fhink s
|astagi™

3 I the probiemn had involved 100 people instead of
akght, which meihdd would be fasiest? { 1{';]; -ag-]



What are the chances of drawing a red card
fromm a regular S2-card deck of playing cards?
What are the chances of drawing a spade? A
57 A black 37 A 7 of clubs?




Answers: Red Card: 1.2

Spada: 144
5: 113
Black 3; 188

¥ ol dubs: 1,82

About the Probhem:

A good deal of the mathematics we 1Sa In o daly
s mvolves dhance Allthough shedenis &e offen not
aven iaimmal dafinitions of probabiltias, they & LEL-
ally Tarmeliar with ways 10 sxpress chanss T v
reports, sporting events, elections, and ather avenbs.

B s assumed that all slucents are famidiar with a
standand 52-card dock of playing cards

Gatting Started:
i gludenls are mat tamiliar with standard playing carncs,
the following quastions may help

How marry giitg gra in g el ol cards™

What aee the suil nameas?

What cards are in each swit?

How diowe axpnsss chances T [ out of ——, a5
A lrachon, A ralia of 8 percant]

DRAW ONE
ANSWERS

Solutlon:

A Than:l arg 13 hears, 12 diamonds and 52 cainds
alogether, 50 the chances aof dmwng a card of &
red BUk are 2E o gl 82 ar 2852 ar 1,32

B Them are 13 spades, !ﬂﬂ'lﬁﬂ'-ﬂl'lﬂ-ﬂ&tl‘lﬂ'mngil
gpacs ar 13 cul al 52 ar 1352 ar 174,

i, Thers are four 55, ore N eech sul, 5o the ohamoss
of draswing & S arg 4 gul ol 52 or 4/52 of 113

0. The cedy two Black 3= are the 3 ol dubs and the 3of
gpadas, a0 the dhances al drawing a black 3 are 2
oul of 82 ar 252 ar 1726

E. Sinca thame 5 only ong 7 Jl clibs, tha chanoa of
drawing i is 1 ol of 52 ar 1/52

Going Beyond:

1. The chances of an evenl occuring ara otlen re-
lemad [0 a5 a progabiliy. What |5 The probabilicy of
drawing & face cand, that is, a King, Cusan, or Jack?
(3/13)

2. Whal = the probabilily of drawing & cand leas than
67 Assurne thal Ace i bagh. (4513)

3. Hpou anre trying to draw an Acos from a full dack, and
you don? suoooad on the firgt draw, whal ane the
chances on tha Second Oraw if you don replscs he
tirst cand yvou craw? [(451)



THIS?

A woman wants to take her fox,
chicken, and bag of com across tha
rvar in her canoe. The canoa can
hold only one thing in addition to
the woman. I left alone, the fox
wolld eat the chicken, or the
chicken would eat the com. How
can the woman take everything
across the river safely?




Answer: Sse the Sclution =scion.

About the Problem:

This cassic prablem involves logic and some dia-
gramming. & is a good idea 0 mad the problem
through more than onee. The probiam, already Iong
and wordy, aggumes et tha oy doeen T lika oom,
Sludeniles should nel “thirk aut lowd” aor atternpt 5o
axptamn e problam belore sthas have had & chanoa
i quietly work through the problem themsakeas. Citten
a pErsan socheaes a protiem comecily, But gais canfsed
irying o werhaliza the solulion, Have gludenis writa
doven hes sobilian @l check il canslully balora
ruplaining

Getting Started:

Students will probably find that & sanies of piclures will
halp tham keap rack of fha sleos. Moking soraps of
papar labalad chickan, fox, com will help simulsa the
slualion

Which two things can be lefl iogether, d any?

Must the woman always camy something n e
boat®

:an ghe take somelhing back wilh Res?

CANOE SOLVE THIS?
ANSWERS

Solution:

Lt ©f, F. and C represent tha chickan, fox, ard com
Thia arrom indicatas the drection inwhich e woiran s
roWing acmss tha nvar,
Theare A W0 solulicns.

F G Ch—e Eclon_o]
B L} - | Ch C§ -~ [Ch
;{L—_-. ch  Flgc—~{ch
C [«—0Cn) F F |lepcnl| o
chlc—]| F o cwlF—]| &

ch] = [ FC

ch—=] E & (Ch—{ F. C
{ 1F Gh G i [ A
! | 1

Going Beyond:

1. & It aasiar i Geplain tha sdluilion shen looking at
reniaa? [Seven 2tans are diffcull o beep dear in
yodf hehil whed seplaining the problom.)

2. This problam shows e valua of canghyl monding
when many sieps ame involyed,
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v'Ms. Mikulik
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